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1.  Translation of some words from an artificial language is given here.
entci — mango tree
entdy — chikoo tree
suxdy — chikoo leaf
Choose the option that indicates mango pulp.

(1) khudy (2) entmal (3) cipow (4)  beckei

2, (i) Every student passed his examination.
(i} Everyone had to show their tickets.
Identify the correct sentence :
(1)  Only (i) is correct (2)  Only (ii) is correct

(3} Both (i) and (ii) are correct (4) Both (i) and (ii) are incorrect

3.  Shyam rides his motorcycle with the speed of 60 km/hr. He takes rest for 5 minutes after
every 30 minutes. He started his driving at 10.00 a.m. then how much distance (in km)
did he cover by 12.30 p.m. ?

(1) 120 (2) 130 (3) 110 (4) 140

4.  Select the appropriate alternative for replacing three question marks.
WP 0 PEAXQOOX P OP0mL( P (P QIO AXP
OXPOPORULE P U P PDOIOAXD IR P OPORVAA P W P ??

209C4XOOX P OP0Ud{ MW U P rpOIR XS O X »rOP0mw
(¢ »

1) ©e0 (2)  wwso (3} = 4) 04

5. 'A’ completes the job in 12 days and ‘B’ completes the same job in 18 days. Then how
much job can be completed if they work together for 6 days ?

[« )N}

1 1
1 1 2 3 G35 (4)
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Find out correct sequential group of letters.
(i) AEIM (i) CGKO @) _2 (iv) GKOS
Answer options :

(1) HLPT (2) BFN (3) DHLP (4) EIMQ

7. If every alternate letter starting from A in the following sequence of alphabets is written in
lower case and remaining in upper case then September will be represented by :
ABCDEFGHIJKLMNOPQRSTUVWXYZ
(1) SePTemBer (2) sePTemBeR (3) sEpTeMbEr (4} sePTeMbeR

8. If we try to write numbers from 401 to 500 then how many times we have to write the
number 4.

(1) 100 (2y 120 (3) 118 (4)y 129

9.  Find out the correct sequential number.

256, 289, 324, _?
(1) 327 (2) 359 (3) 361 (4) 329

10. In a certain code ‘946" means ‘Mohan is good” ‘632" means ‘Mchan is important” and ‘157’
means ‘Honourable Chief Minister’, ther: in that language what code is used for ‘Good’ ?
(1) Data Inadequate 2y 9
(3) 4 (4) 6

11. Choose the correct affirmative sentence for the following sentence :

‘1 did not fail to see the Taj Mahal’
(1) Ifailed to see Taj Mahal (2)  Except I everybody saw the Taj Mahal
(3) [ saw the Taj Mahal (4) T had seen the Taj Mahal
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12. Don't smoke.
Identify the meaning of the mood expressed in the above sentence.
(1) command (2) request (3) advice (4) purpose
13. Choose the simple sentence from the following :
(a} Onaccount of my indifferent health, [ wish to leave you some advice for your conduct
in life.
(b) What a forceful character Voltaire was !
(c)  If he had not shrieked at the highest pitch of his voice he might have been trampled
under foot.
{d) The ordinary man seldom forgets to turn off the lights before he goes upstairs.
Answer options :
(1) (@) only (2) () only
(3) (¢} and (d) only (4) (d) only
14. Give meaning of the following :
‘quixotic’
(1) reckless, careless (2} greedy, voracious
(3) gleam, shine (4) romantic, impractical
15. Choose the correct meaning of the following idiom :
To take after
(1) to pursue (2)  to change suddenly
(3) to take something for another (4) to be similar in appearance
16. Eat good food that you may live longer.

Identify the meaning of the modal underlined.

(1)  permission {2) possibility {3)  probability (4) purpose
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In this question, four words are given, out of which only one word is correctly spelt. Find
the correctly spelt word :

(1) Supersede (2)  Superseed (3) Supercede (4) Supperssed

18. Choose one word that can be substituted for the given phrase :
A hater of Learning and knowledge.
(1) illiterate (2)  bibliophile {3} misologist (4) misogynist
19. In this question four words are given, out of which only one word is correctly spelt. Find
the correctly spelt word.
(1) accomodate (2) acommodate  (3) accommodate {4) accommodat
20. Rewrite the following sentence using ‘would’ for the underlined verb :
‘Mother always told me that nobody could roll out better chappaties’.
(1) Would always tell. (2)  Would always told.
(3}  Would always telling. (4) None of the above
21. Arnav and Aditi have ¥ 9000, Aditi and Abhijeet have T 10,000 and Arnav and Abhijeet
have ¥ 11000. Then what is the total amount all the three have ?
(1y ¥ 30,000 (2) T 12,000 {3) 15,000 (4) 21,000
22. At 815 am Nanu and Aman were in conversation with each other in Diva Chowk. Nanu's

shadow was exactly to the left of Aman. Which direction Aman is facing ?

(1) East (2)  West (3}  North {4y  South
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23.  Which alternative image can be obtained by fitting pieces provided in the box ?
=
(1) (2) M (3) (4)
24. Change the following sentence into complex :
Coming to Kolhapur, one cannot get away without visiting chappal galli.
(1) If one comes to Kolhapur, one cannot get away without visiting chappal galli.
{2)  Coming to Kolhapur, one can get away without visiting chappal galli.
(3) In Kolhapur, one cannot get away without visiting chappal’s galli.
(4) By coming to Kolhapur, one can get away visiting chappal galli.
25. Find the odd man out :
343, 512, 556, 729.
(1) 343 (2) 512 (3) 556 4) 729
26. Neeta said to Najma, “The girl playing with the cat is the youngest child of the eldest
daughter of my father’s wife. I am the youngest daughter of my father.”
How the girl playing with the cat is related to Neeta ?
(1} niece (2) cousin (3} grand-daughter (4) maternal aunt
27. In a certain code NATIONAL is written as $@152x$@P and CAPTAIN is written as

%@81@5%. How is CANAL written in this code ?
1)  %$1P1 (2) %@$ar 3)  %@$5P (4) %@$w8
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28. Identity the image that completes the pattern :

(1) (2) () (4) f ‘/

29. Find the missing number from amongst the given alternatives.

g 29 @

(1) 53 (2) 35 (3) 52 (4) 28

30. In the question below are given three statements followed by two conclusions numbered
(i) and (ii). You have to take the given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the conclusions and then decide
which of the given conclusions logically follow from the given statements the disregarding
commonly known facts.

Statements : All benches are tables.
No table is cot.
Seme cots are cupboards.
Conclusions : (i}  Some tables are benches.
(i) Some cupboards are tables.
Answer options :
(1)  Only conclusion (i} follows
(2)  Only conclusion {it) follows
(3)  Either conclusion (i) or (ii) follows
(

4)  Both conclusions (i) and (i) follow

HEAT HINTETS AT /SPACE FOR ROUGH WORK
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31. Consider the following sentence and choose the best alternative as the underlined words
sound same but have different meaning,.

(a) Cannons are used in wars.

(b)  The Geeta deals with high canons of morality and religion.
Answer options :

(1) (a) is correct (2) (b) is correct

(3) Both (a) and (b) are correct (4) Both (a) and (b) are wrong

32. He said “How slow he walks”.
Pick out the correct indirect narration of the above sentence.
(1) He said he walks very slow.
(2) He exclaimed that he walked very slow.
(3) He exclaimed that he walks very slow.

(4) He said that he walks slow.

33. Choose the correct meaning of the following idiom :
To pull the strings
(1) to tighten up (2) to become alert

{3} to manipulate (4) to act as a mediator

34. Choose the appropriate alternative to fill in the blank :
The report did not find favour the share holders.

(1) of (2)  with (3) by 4) to

HEAT FHIHTEIS AN /SPACE FOR ROUGH WORK
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Choose the correct alternative from those given below :

I six letters since 8 A M.
(1) wrote (2} have written
(3) have been writing (4)  write

36. In this question four words are given. Out of which only one word is spelt incorrectly.
Find the incorrectly spelt word.
(1) alloted (2) Dbreath {3) defendant (4}  punishable
37. Choose the best alternative from the following which expresses the meaning of the given
word :
DEIFY
(1) Face (2) Worship (3)  Flatter (4) Challenge
38. This road from Mumbai to Pune.
Complete the sentence choosing the correct alternative.
(1} ran (2) runs (3) is running (4) has run
39. Choose the word which has the same meaning and can be used in the same context as the
italicised parts in both the sentences.
(a) Ashok has got a friendly disposition.
(b) The warm sunshine in the morning filled my heart with joy.
Answer options :
(1) genial (2)  joyous (3) pleasing (4) happy
40. Give noun form of the following :

‘Contide’
(1) Confident (2) Confidential (3) Confidence (4) Confide

AT HWIUTEES AT /SPACE FOR ROUGH WORK
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41. Choose a figure which most closely resembles the unfolded form of figure (D) when it is
punched as shown.

42.

®
(]

43.  Which of the following diagrams best indicates the relation between librarv, book and
readers ?

,ff//—\ [
o 0 o (@ o) @ (OO
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Choose the appropriate alternative for replacing question marks ?;, ?2,, 2,.

VY

(1) T,Vand A (2} T,VandC (3} S, VandB 4) T,VandB

45. Choose from the alternatives fifth image of the series.
oYo) e oy @\ /o
| N D D)
©) © © o)
© 4 © © ©
NN @ ¥ ® (1 @ (O
OND ® OO SR®
46. Identify the odd group of letters from the following :
AEL 10U, NOA, EIO
(1) AEI (2) IOU (3) NOA (4) EIO
47. A person sitting in the back seat of a car experiences a backward force when the person

driving the car suddenly starts driving the car in the forward direction.
Choose the appropriate comment with respect to the above statement.

(1) Sometimes {2} Often (3) Never (4) Always

THoAT |G TN /SPACE FOR ROUGH WORK
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48. PQ@Sd$zx127ZXuVMP£&S

Which one of the following groups of letters and symbols is different from the other three
in respect of positions of letters and symbols in series given above ?

(1) Pst 2) @$2 (3) ZVE 4) XMé&

49, If '+ means’X’;
‘— " means '+ ;
‘X" means ' —"' ; and
‘+" means ‘+’ then,
9+5+4-2%x9=?
(1) 40 (2) 38 (3) 20 4 25

50. Some work was expected to be completed in 20 days but because of absence of 5 workers
that job was completed in 25 days. Then how many workers were expected to complete
the job originally ?

1) 20 2) 25 (3) 30 (4) 40

51. Choose the best alternative from the following which expresses the opposite meaning of
the given word :

LENIENT
(1) Obstinate (2)  Annoyed (3) Rude (4) Harsh

52. Read the following sentences carefully and decide on their correctness on the basis of
underlined words ;

(a) You should not interfere in one’s personnel affairs.

(b)  The personal of ICS were proud of their positions during the British rule in India.
Answer options :

(1) ({(a} is correct (2) (b} is correct

(3) Both (a) and (b) are correct (4) Both (a) and (b} are wrong

oAl FIUMER AT /SPACE FOR ROUGH WORK
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53. We must not laugh at him.
Identify the correct passive voice of the above sentence.
(1)  Tle must not be laughed at. (2)  We must not be laughed at him.

(3)  We should not laugh at him. (4}  We must be laughed at him.

54. (i) He was borne in August.
(iiy  She has born many difficulties.
Identity the correct sentence.
(1)  Only (i) is correct (2)  Only (ii) is correct

(3}  Both (i) and (ii) are correct (4) Both (3} and (ii) are incorrect

55. “He is said to have lived on liquid diet.”
This in active voice is :
(1) He is said to have been lived on liquid diet.
(2)  He says to have lived on liquid diet.
(3)  He says he has lived on liquid diet.

(4) People say he has lived on liquid diet.

56. Choose the correct word for the following phrase :
A government by one mar.

(1)  Dictatorship (2) Bureaucracy (3)  Autocracy (4) Oligarchy

57. Use the infinitive form of the underlined :
‘T have tried getling you into the kitcher.
(1) T have tried to get into the kitchen.
(2)  ['have tried to get you into the kitchen.
{3) Ihave tried to remain into the kitchen.

(4)  None of the above

*
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58. Fill in the blank with correct word :
The king acted most
(1)  Judicially (2)  Judiciously (3)  Judiciouslly (4) Judicaly

59. Choose the one word which can be substituted for the given words/sentence :
“A person who does not believe in any religion”

(1) Philatelist (2) Rationalist (3) Atheist (4) Pagan

60. Pick out the correct word for the following :
Proficient in several languages.
(1} grammarian (2) linguist (3) phonetician (4) multilingual

61. If the sequence of English alphabets is written in reverse order, which one of the following
letters will be 131" letter from the left ?

) M 2y L 3 O (4) None of these

62. In the two numerical sequences below, one number that appears in the top sequence
should appear in the bottom sequence and vice versa. Choose the alternative pair that
should be changed around.

120, 103, 96, 81, 64, 45
115, 109, 89, 73, 55, 35

(1) 45, 35 (2) 64, 55 3) 96, 89 4) 103, 109

63. Choose the alternative that is the 9% term of the following series.
5,10, 20, 40,...........

(1) 1280 (2) 1080 (3) 1536 (4) 1200

Tl SIS ST /SPACE FOR ROUGH WORK
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64. Choose alternative that represents odd group of symbols.

(1) #so<w § RS kOR 2) 1=wROD@ReskU

3) SR kds § *= 4 (4) *Sso § AR ek O

65. '245 means ‘I am beautiful’ ‘869" means ‘they went home’ and ‘319" means ‘we are home'.
Which of the following is used for ‘went’ ?

n 9 (2y 8 (3) 6 (4) Data is inadequate

66. If in a code 'RAMESH’ is written as ‘MARHSE', then how should "NAGESH' be written as
in the same code ?

(1) NAGHSE (2) GANHSE (3) GANESH (4) NAGHSH

1 1
67. If 3 of a number is subtracted from 5 of the same number we get the answer 6. Then

what will be the number if we add 4 to the original number ?

1) 36 (2) 32 (3) 40 (4) 44

68. Select the appropriate alternative for the fifth place of the following image series :

DA
A o o

HTAT SIS W /SPACE FOR ROUGH WORK
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69. Three of the following are alike in a certain way and form a group. Which one does not
belong to this group ?
(1) 12 2y 52 {3) 28 {4y 54
70. A shopkeeper sold an article with 20% loss, had he sold the same article with 10% profit
he would have got ¥ 90 more. Then what must be the original price of that article ?
(1) <100 {2y <200 (3) T 300 (4) T 500
71. Choose the appropriate article to fill in the blank from the following alternatives :
water of this well is sweet.
(1) An 2) A (3} The (4) No article
72. (i) Mohan walks too slowly.
(i) Mohan walks very slowly.
Identify the correct sentence.
(1) Only (i) is correct (2) Only (ii} is correct
(3) Both (i) and (ii) are correct (4) Both (i} and (ii) are incorrect
73. Oh[ ] Liberty [ } what crimes are committed on thy name [ ]
Complete the sentence using correct punctuation marks.
1 L2t (2) ey ? (3) .l ? 4) eyt ?
74.  Choose the one which can be substituted for the given words/sentence :

“To examine one’s own thoughts and feelings”

(1) Meditation (2) Retrospection {3} Reflection {(4) Introspection

&Hoedl HIHTETS! AT /SPACE FOR ROUGH WORK
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75. The match between India and Pakistan is always a big draw.
Identity the correct meaning of the underlined.
(1) a great fight (2)  a huge attraction
{3) nobody wins (4) friendly

76. This is the very man who robbed me.
[dentify the type of adjective underlined.

(1) possesive (2) emphatic (3) demonstrative (4) descriptive

77. Choose the correct word opposite in meaning to the word underlined.
We find both hope and in our lives.
(1) trouble (2) care (3) affluence {4}  despair

78. Change direct into indirect speech :
The teacher said, “Stand up, Sandeep”.
(a) The teacher told Sandeep to stand up.
(by The teacher said Sandeep to stand up.
(c) The teacher ordered Sandeep to stand up.
(d} The teacher requested Sandeep to stand up.
Answer options :
(1} (a) and (b) only (2 (b) only
(3} {(c) only (4) (b) and (d) only

79. (i) Many a students are poor.
{ii) Many a student is poor.
Identify the correct sentence.
(1)  Only (i) is correct (2)  Only (ii) is correct

(3) Both (i) and (ii) are correct (4) Both (i) and (it) are incorrect

FHeeAT HIEEEN I /SPACE FOR ROUGH WORK
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80. “Do you see this ring ?” %
In passive voice this is :
{1) Is this ring being seen by you ?
(2)  Does this ring being seen by you ?
(3) s this ring been seen by you ?
(4) Is this ring seen by you ?
81. apples on our tree are not yet ripe.
Choose the correct alternative to make the sentence meaningful.
(1) An {2) The 3) A (4) No article
82. How many meaningful English words can be formed from the word NOTHING without
changing the order of letters ?
1y 4 2 5 3) 6 4y 3
83. Choose the day from the alternatives that comes three days after the day which comes
two days after the day which comes two days after the day which comes two days after
Monday.
(1} Monday (2)  Tuesday (3) Wednesday (4) Thursday
84. A series of electronic watch faces is given below. Choose the appropriate option for the
blank face.
LSsEEmE R R Bp
(1) 2:33:06 (2) 2:35:36 3y 2:31:10 (4) 2:30:06
8§5. If9:38:: ? :84

then choose the logical alternative for replacing the question mark.
(y 11 (2} 46 (3) 24 4) 14
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Find the missing number from amongst the given alternatives.

(1) 6 2 8 3 5 (4) 4

Today the age of father is thrice the age of his son. After 10 years the difference between
their ages will be of 50 years. Then what is the age of the father today ?

1) 40 (2) 75 3) 30 4) 60

Choose the alternative that indicates the minimum number of different colours which are
required to paint the following figure such that no two adjacent regions have the same
colour.

1) 4 (2 5 3) 6 @) 7

The numbers in the following question are written according to a certain pattern row-
wise or columnwise. Identify the pattern and find the missing number accordingly.

r4L7 40
215 16

(1) 25 ) 21 (3) 56 (4) 60

FEAT FTHTEE TN /SPACE FOR ROUGH WORK
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90. Select the alternative for replacing the question marks.
3,30,93,277, 2 ,_2 ,219,151, 282,88
(1) 136, 214 (2) 126, 204 (3) 14.6, 224 (4) None of the above
91. Choose the correct alternative from those given below :
IfI you, [ would not loose temper.
(1) was (2) were {3) had been (4) would be
92. Transform the following sentence from compound to simple :
He launched an independent partnership and his dealings reached the bracket of half a
million.
(1) On launching an independent partnership, his dealings reached the bracket of half
a million,
(2) He reached a bracket of half a million in his dealings as an independents.
(3) The Independence partnership reached him to the brackets of half a million.
(4) An Independent partnership dealings reached him to the brackets of half a million.
93. Add a correct suffix to form a noun from the word :
Urge
1) ____nt (2) ____ncy (3) ing 4) ntly
94. When he opened the door, the bird
Complete the sentence choosing the correct alternative.
(1) fly away (2} flew away (3} has flown 4) flown
95. Very few things are as useful as wood.

Change into comparative degree.

(1)  Wood is more useful than many other things.
(2) Wood is more useful than most other things.
(3) Wood is less useful than any other things.

(4) Very few things are more useful than wood.

oA HIATATS! W /SPACE FOR ROUGH WORK
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Instruction : Read the passage given below carefully and answer Q. Nos. 96 to 100 based on it.

Although religion does not inhibit the acquisition of wealth, although it does not hold up
large fortunes as evil, the tenor of its teaching, by and large, is to induce an attitude of indifference
to worldly things, things which gratify one’s lower self and keep one engrossed in
money-making. The student should be made to realize that the real goods of life are spiritual,
love of things of the spirit and service of one’s fellowmen, joy of an ordered disciplined life.
These are blessings money cannot buy. What is wealth before such things of the spirit ? Of all
religious teachers Jesus Christ has dealt more comprehensively than any other with the problem
of wealth in all its aspects. He may be called the greatest exponent of the science of the wealth.
With only four words “Blessed are ye poor!” he changed altogether the values which man
attached to human existence and human happiness and acquisition and possession of wealth.
Real bliss consisted, he taught, not in riches nor :n anything else which the world regarded as
prosperity or felicity, but in the joy and happiness derived from being at peace with one’s
fellowmen through perfect love and fellowship and selfless service and sacrifice.

The word “poor” on the lips of the Master had a spiritual significance - the poor so far as
they were poor in spirit, humble before God, simple, God-fearing, teachable, faithful. It could
surely not have been his intention to hold up destitution and privation as a blessing in itself.
That would have turned life into a terrible ordeal and it would have been heartless to exhort the
poor to believe that money was not necessary for one’s sustenance or the joys and blessings of
life. Even things of the spirit cannot be had without money. Extreme poverty is as liable to lead
to the stagnation and impoverishment of the soul as excessive wealth. Not outward poverty
but inward spirit was what Jesus Christ desired and demanded. Every religion asks a man to
regard his wealth as a trust. Giving in charity for the relief of the poor and public welfare is not
merely an act of compassion, not merely a religious duty, but also an act of social justice. All the
gospels of wealth are based on the fundamental concept that none can claim an absolute or
inherent right to property. Everyone holds it in trust from God to promote the good of mankind.
All rights to private property are subject to this primary obligation to God and man.

96. What did Jesus Christ advocate for ?
(1) Not inward spirit but outward poverty
{2y Not outward poverty but inward spirit
(3) Not outward poverty but inward peace
(4) Not outward poverty but inward poverty

97. Match the following :
(a) Real bliss (i)  Spiritual significance
(by Poor (ify  Stagnation and impoverishment of the soul
(c) Extreme poverty (iii) At peace with one’s fellowmen
(d) Fundamental concept (iv) No absolute right to property
Answer options :

P

@ (b) (9 (d)
1y ) (@) () ()
2) ) @) (g (iv)
(3 i} (@) @) ()
(4y (i) (i) () (iv)
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98. Which of the following statements is associated with Jesus Christ ?
(1} Blessed are you poor! (2)  You poor are blessed!

(3) Blessed are ye poor! (4) Blessed ye are poor!

99. Which of the following are discussed in the passage ?

(a) Spirituality (b} Pollution (¢} Service of fellowmen
Answer options :

(1) (a) only (2} {a) and (¢) only

(3) (a) and (b) only 4) (a), (b) and ()

100. What has Jesus Christ dealt more comprehensively than any other ?

(1)  Problem of religion (2)  Problem of soul
(3) Troblem of wealth (4} Problem of neighbours
-olo-
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Pick out the correct word to fill in the blank :

Q.No. 201.

T. %. 201.

| congratulate you your grand success.
(1} for 2y at (3} on 4y  about

& YU TG I (3) on” W AR, TR W WA W (R) DEe awd Esieyar
¥ . 201 FHIE SE-Fa ()" € adm [T e wEd SEian ST .

ONON NO

W g T YETYfEa e Tes YIET el SOGEEE Bl R maaien qiEoe
IAGARAE 1 W TYTHRHEREETE Gu6t9d aqz Yol SWifhd Hed TradEn  gresiEr
TRl TTedl IS AledT arrd, Uf-ae a7 g i a3,
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